As a hardworking student, plagued by too much homework, you spend all night doing math homework. By 6am, you imagine yourself to be a region bounded by
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As you grow more and more tired, the world begins to spin around you. However, according to Newton, there is no difference between the world spinning around
you, and you spinning around the world. Unfortunately, you are so tired that you think the world is the x-axis. What is the volume of the solid you (the region) create
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by spinning about the x-axis?
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Find the area of the region enclosed between y = 2 sin(z) and y = 4 cos(z) from z = 0 to z = 0.9.

Hint: Notice that this region consists of two parts.

f(x) =2sin(x){0<x< .9}
g(x) =4cos(x){0<x< .9n}
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Find the volume of the solid formed by rotating the region enclosed by _yextz A

z=0,z=1,y=0,y=5+2° n
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about the z-axis. y-and Y—aX\J
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@ Recall, how do you find the average of a (finite) set of numbers, .. add ‘em up and divide by how many there are
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Find the volume of the solid obtained by rotating the region bounded by

about the liney = 3
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